10:20 BA==
55 HNo. X 5 b | 3R | b s 7y7 | BhEk | BERE
1 1040 |FLoairan 1| BEREE (wavr| 1 7 6 2 4
2 1044 |=FIV R | CR 1 10 6 2 4
3 10:48 |[FLoaorqnn| #ERE | WS 1 9 6 2 4
4 10:52 | =710 ERE | CR 1 8 6 2 4
5 1056 |FLoa=71| #RM | SC 1 8 6 2 4
6 11:00 [>=7 1 1 CR 1 5 5 2 4
7 11:.04 |FLPa=70| %R | SC 1 10 6 2 4
8 11:08 |FLoairan1| R (wivr] 1 6 2 4
9 11:12 | =7V R CR 1 6 2 4
10 11:16 |FLoairann| REE WS 1 6 2 4
11 11:20 | =710 R CR 1 6 2 4
12 1124 |FLoa=71| R SC 1 6 2 4
13 11:28 | =71 R CR 1 5 2 4
14 11:32 |[FLoa=7n| ki SC 1 6 2 4
11:36  |5ToRERX 20
1156 |Da=F7RAUASAESIRERK 10
12:06 BIRH 34
50 1240 |FLoa=7 1| #ERE [ wa 1 7 6 2 4
51 1244 |=ZFIN R | WT 1 10 6 2 4
52 1248 |2 =—7II AR | WT 1 8 6 2 4
53 1252 |FLoa=70| #ERE [ wa 1 10 6 2 4
54 1256 |>=7 1 1 WT 1 6 6 2 4
55 13:00 [v=7vEZEFHE| 1R WT 1 3 3 2 4
56 13:04 [P=—7mEEFE| 1X WT 1 3 3 2 4
57 1308 |FL =7 1| R wQ 1 6 2 4
58 1312 | =7V R WT 1 6 2 4
59 13:16 | =—7FII R WT 1 6 2 4
60 1320 |FLoa=7 0| R WQ 1 6 2 4
61 1324 |=71 R WT 1 6 2 4
62 13:28 |o=—7vEEFiE| REF [ WIF | 1 3 3 6
63 1334 [co7mgsEs| RE | WIF | 1 3 3 6
13:40 [RHUA—FRE R 20
1400 [#&7T
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